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12™ CLASS ASSIGNMENT
TOPIC - Sexual REP in flowering plant

Q.1 Define the following terms:-

a. Proximal end of filament b. Dithecus

c. Distal end of filament d. Microsporogenesis
Q.2 How many thica and pollen sac present in one lobe of an anther.
Q.3 Name the tissue which forms MMC.

Q.4 How many nucleus is present in tapetum cell.

Q.5 Name the structure which produces pollen kit, callase enzyme and ubisch
granules.

Q.6 What is the shape of pollen sac, anther and generative cell.
Q.7 Which structure of anther is separated by longitudinal groove.

Q.8 Write the function of:-
a. Epidermis, Endothecium b. Tapetum

Q.9 Name the changes/ events take place during:-
a. Pre- fertilization b. Fertilisation c. Post fertilization

Q.10 Name the two essential parts of flower.
Q.11 Differentiate between young anther and mature anther.

Q.12 Name the four layers of wall of anther.




Q.13 Write the function of:-
a. Exine b. Generative cell c. Intine
d. Vegetative cell e. Tapetum

Q.14 Write the another name of:-
a. Microsporangium b. Tube cell c. Parthenium

Q.15 Answer the following questions based on pollen grain:-
a. Size of pollen grain
b. Chemical nature of exine.
c. Chemical nature of intine.
d. Number of cell before pollination.
e. Number of cell after pollination.
f. Large sized cell in pollen grain.
g. Small sized cell in pollen grain.
h. Which cell produce male gamete.
I. Which cell produce pollen tube.
J. Name the aperture on exine where sporopollenin absent.
k. Example of plant causes pollen allergy.

d. PMC
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1. Define :-

d.

b.

N

e b

Spermeiogenesis.

Spermiation.

ey

Differentiate b/w spermatogenesisdnd oo’ge’ﬁesis.

At what stage is meiosis -1 suspended in a primary _Qggyte.
Name the cells formed after meiosis-1 of the,ﬂprii’”'m_aw‘fy oocyte.

How many ova will be produced by oneful}grgwn primary oocyte.

6. What is the chromosome num_bé’niﬁh following cells:-

a.
b.
f
d.

e,

f,

Spermatogonia

Primary sper@atocytq};ﬁ

Spermatidsi,
Secondarwspérrﬁatocyte
Ootid '

Follicle cell

7. Describe the process of spermatogenesis upto the formation of

spermatozoa.

8. Explain the hormonal control of spermatogenesis in human




. Mention the relationship between pituitary and ovarian hormones during a

menstrual cycle.

. Mention the relationship between concentration of Iutelmz ing hormone

and maintenance of endometrium in the human uterus

child after 50 years of age?

. Answer the following :-

inan

O

monce levels

d.

Days

a.
b.

Cs

. Write the physiological reason, why a woman geh@}ga!iy cannot conceive a
Ly 3‘?_:‘: b

L\
N, Y
) |

Explain the menstrual pha‘sgf‘ln a Jhuman female. State the levels of
ovarian and pituita ry h hormones during this phase.
Why is follicular pha‘s’e I;_] the menstrual cycle also reffered as

proliferative phasé?;‘g)‘(blain ?

. Answer the following in'given graph:-

Identifyi‘-iA":*aﬁd BY
Specific the source of the hormone marked in the diagram.
Reason out: why A peaks before B?

Compare the role of A and B.
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1. IfA = [2 ] , find A + A’, where A’ is the transpose of matrix A. [CBSE 2009)]
15 15 8
2. If [ g } = [ J . Find the value of x. [CBSE 2009]
2 y x—y 3
ol el o [AICBSE 20
J 5 b oy e 0l in e value of y. 09]_
4. If A is a matrix of order 3 x 4 and B is a matrix of order 4 x 3, find the order of the
matrix (AB). ICBSE 2010]
By 2L o0 R [CBSE 2010]
b b 25
1 il
6 I et , then find x. [CBSE 2010]
2y 5 4 5
3 -1 3 -1
7 0 i , then find y. [CBSE 2010]
e B4 | -3 4 :
B. IfA= !:C?S g W el a] , then for what value of a, A is an identity matrix. [CBSE 2010]
sin o cos o
4 Sl 75 1] !
Sk = ' i :
9, [3 3 :’ [ 5 E J I:k 23 J , then write the value of & [CBSE 2010]
10. Use elementary row operation, find the inverse of the following matrix :
2 b
[ i3 ] [CBSE 2010]
8y gt Lo e :
110 e , then find y. [AICBSE 2010)
3 7 3 7 i
§.2 , '
12. IfA = [3 4], find A + A'". [AICBSE 2010]
Sl Lt
13. Express 3 —2 -5 | asasum of symmetric and skew-symmetric matrix and verify
-1 1k 2

the result. [AICBSE 2010]




25091
e lEA =2 | 1.3 “ , then find the value of A% — 3A + 2I. [AICBSE 2010}

{7LE 0]
15. For the following matrices A and B, verify that (AB)' = B'A’

1
A=|-4] B=[-1 2;1]. : [AICBSE 2010]
3

- 16. Find the inverse of following matrix using elementary operation :

L2 =2
A= -1 3 0 [AICBSE 2010]
O =27 1 ;

1

17. For a2 x 2 matrix, A = [aij], whose elements are given by a,; = —L— , write the value of .
J

[CBSE 2011]
. [[box @il o : :
18. For what value of x, the matrix l: 9 } in singular. [CBSE 2011}
19. Using elementary transformations, find the inverse of the matrix
1 3 =2
R [CBSE 2011]
a0
203 . . -
20. IfA= o write Al in terms of A. [AICBSE 2011}
21. If a matrix has 5 elements, write all possible orders it can have. ; [AICBSE 2011]
22. Find the value of y — x from the following equation :
she B s Al 6 :
2 1 -3 -4
23. If ¢ i = ¢ , write the value of x. [CBSE 2012]
BTl =2 4lp |9 e
B0 elilite wi cos® sin0 b sin® -cosH (CBSE 2012)
s RUBRURY ©B 5 L gin @ oos 0 . cos® sin 6




3 4
=172 .9
25. IfA'=|-1 2| and B= [ R 3}, then find A’ - B'. [AICBSE 2012
(05
, ; @ 5202 0
26. For a 2 x 2 matrix A = [aij], whose elements are given by a,;= , write the value
of a1 [CBSE 2012 C)
1 7t
27. For what value of x, the matrix [ 3 . 5 ] is a singular matrix ? [AICBSE 2012 C]
=
2¢+1 2y x+3 10
4 = i : - 2
28, If [ 0 o 1} [ 0. o ] , write the value of (x + y) [AICBSE 2012 ()
/
29. Find the value of x + y from the following equation :
9 X 5 - 3 -4 - 7.6 : y
: 7 id 3 e Dol el [AICBSE 2012 (]
f9-14._A+12—1 & . CBSE 2
30. I M e 04 gl then find the matrix A. [ £ 2013]
a-b 2a+c =1 5
. Fi i = : B
31. Find the value of b, if [2(1 o d] [ 0 13} [CBSE 2013]
Xy L2y 1 4 : :
32, If = , then write the value of (x + Yy +2). [AICBSE 2013]
2y+2z x+y 9:5
v gLl
33. If matrix A = [_ 3 3] and A? = AA, then write the value of A, - [AICBSE 2013]
0 i l
34. For what value of %, is the matrix A= | _1 0 3| askew-symmetric matrix ?
Zem8.a 0 ;
[AICBSE 2013]
-1
35. If matrix A = [ . J and A? = kA, then write the value of . [AICBSE 2013]
. : i
36. If matrix A = [ ; J and A? = pA, then write the value of p. [AICBSE 20131

1.8 0] 56 :
37. 1f 2[0 xJ+[y J:[ SJ,then write the value of (x + y), [CBSE 2013 C]




R T find (x - y) [CBSE 2014
o + = 5 - i Y
8%y b0+ 18| fdo & | Aoy J

39. If Ais a square matrix such that A2 — A, then prove that (I + A)3 — 7A = I
[AICBSE 2014)

40. The elements a; of a 3 x 8 matrix are given by ;= %l~ 3i+ j|. Write the value of

element Qgq. [AICBSE 2014C]
A2 1 ot folinlem it it of x + . [AICBSE 2014]
2c—y w 0-5
; . 10
42. Solve the following matrix equation forx : [x 1] [ 9 0]2 0. [CBSE 2014)
2 w01 ;
43. If A = | 9 o8, find A2 - BA & 41 and hence find a matrix X such that
1 -1 0
A?—5A +41+X = O, [CBSE 2015)
44. Write the element @y3 of a 3 x 3 matrix A = (aij) whose elements @, are given by
o= L;J'- [CBSE 2015

attempt is given below : ;
() Rs. 50 - (@@ Rs. 20 (1i7) Rs. 40

The number of attempts made in three villages X, Y and Z are given below :
@) @) (@)

X 400 300 100

Y 300 250 75

Z 500 400 150
Find the total cost incurred by the organisation for the three villages separately, using
~matrices. [AICBSE 2015]

46, Construct a matrix A = [aij]2 « 2> Whose elements are given by a; = e?* sin Jx
[CBSE 2015]

47. If A is a square matrix such that A? = I, then find the simplified value of
A-I3+(A+IP-7A. [CBSE 2016]



52.

57,

cos o sin o

T A =[ J, find o satisfying O<a<g when A + AT = «/512; where

—sino  cosa

AT is transpose of A. [AICBSE 2016]

. Show that all the diagonal elements of a skew-symmetric matrix are zero. [CBSE 2017]

If A is a skew-symmetric martix of order 3, then prove that det A= 0. [AICBSE2017)

0 a -3
. Ifthematrix A=|2 0 -1 |isskew symmetric, find the values of ‘e’ and ’.
b 140

[CBSE 2018]

0 2 0
If A= [3 4J and kA = [ aJ , then find the values of 2, @ and b. [CBSE 2019]

50 4 3
If3A-B = L and B = ¥ oal then find the matrix A.
~ [AICBSE 2019; CBSE 2012C]

Find a matrix A such that 2A — 3B + 5C = O, where B=[_§ “12 Z} and

Bh. grela
C= s [AICBSE 2019]

\

SOME ADDITIONAL IMPORTANT QUESTIONS

; g R
F1nanndY,if2X+3Y=[4 OJ and3X+2Y=[ 1 5J.

IfA = [ Z] and f (x) = x% - 4x + 7, show that £ (A) = O. Use this result to find A5,
0 —tan =
If A = 2 | and I is the unit matrix of order 2 x 2; show that
tan> 0 s
2
coso - sin a
I".LA:'(I_A) sin o cosa |
n  bla"-1)
a b a Sos eI Sy :
IfA = ,a# 1, prove that A” = a-1 ,neN.
0l 0 1
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59. Express the following matrix as the sum of a symmetric and a skew-symmetric matrix :

=R b
273 1
5.0 b

60. If A, B are square matrices of equal order and B is a skew-symmetric matrix, then write
whether the matrix ABA’ is symmetric or skew-symmetric.

0.1
61. If A= [0 0}, show that (@.I + b.A =a"l + n.a»~ 1. b.Afor alln € N.

62. Show that positive odd integral powers of a skew-symmetric matrix are skew-symmetric
and positive even integral powers of a skew-symmetric matrix are symmetric.

63. If A and B are square matrices of the same order such that AB = BA, then prove by
induction that AB" = B*A. Further, prove that (AB)" = A"B" for all n € N.




10.

11.

12.

13.

14.

15.

16..

Using matrices, solve following system of equations :
8¢+ 4y + 3z =18
2x+y+z =5
X+29+2 =5 [AICBSE 2009]
Using the properties of determinants, prove that if x, y, z are different and
2

x x2 1+

y ¥2 1+y%| =0, then 1 +xyz=0. : [AICBSE 2009]

& et 1aad

Using matrices, solve the following system of equations :

x+y+z=1

xX—2y+3z =2
x—3y+56z=3 , [AICBSE 2009]
1£A = B ;] then find | adj. A|. [CBSE 2010]

Find the minor of the element of second row and third column (agg) in the following
determinant

2 -3 b
6. .10 4 [CBSE 2010]
1.5 =7
020
What is the value of the determinant: |2 3 4| ? [CBSE 2010]
4 5 6
If Ais a square matrix of order 3 and |3A| =k |A|, then write the value of %.
' [CBSE 2010]
Using properties of determinant, prove the following :
Xy _
22 y2 2| =xy2 () (22 —x) [CBSE 2010, 11]
x® 4% B
Using properties of determinant, prove the following :
(b +¢)? ab ca
ab  (a+c)? be =2abc (@ + b + ¢)3 [CBSE 2010]

ac be (a + b)?
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3 2 1
17. IfA=14 -1 2|, then find A1
748 a3

Hence, solve the following system of equations :

3 +2y+2z =6
dx~y+22z =5
Tx+3y—-82 =7 [CBSE 2010]
L . 2¢es
18 VIRV gl xg , then find A-1, Hence, solve the following system of equations :
S adi-q
X+2y-82=-4
2+3y+22 =2 .
3x-3y-4z =11 [CBSE 2010]
19. What positive value ofx makes the following pair of determinants equal ?
2x 3| |16 3
. s . . 2 -1
20. Write the adjoint of the following matrix : [ i 3] [AICBSE 2010)
- Ais a square matrix of order 3and [A| = 7. Write the value of |adj. A|.
[AICBSE 2010)

. Using properties of determinant, prove the following :

1 14 px’ ;
y ¥ l+pydl=+ pxyz) (x —y) (y - 2) (z - x). [AICBSE 2010)
7 2 14 pzt

If a, b, c are positive and unequal, show that the following determinant is negative :

Al [AICBSE 2010}

S Oy O

b
c
a

oY RY o

nd 4. gd B ] g

=7 1 281.k1 <92 _ o9\/sand use it to selve the system of
5. =884l ko nyk g

equations,x—y+z=4;x—2y—2z=9and2x+y+32=1.

. Détermine the product

[CBSE 2010C, 2012)
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Using properties of determinants, prove that
Stoe HR

ba -2 po | = 4g22:2 [CBSE 2011)
ca chb =42

26. Write A1 for A = [2 5].

[CBSE 2011
1. =3 _
27. Using matrix method, solve the following system of equations :
E+§+E=4,é_§+§=1,§+2_@=2;x,y,z¢o [CBSE 2011]
x Y% X oy Xy
28. Using properties of determinants, prove the following :
x+4 2 2x
2% ‘%+d Dy | . (5x + 4) (4 —x)2, [CBSE 2011]
2x 20§ i LA
29. Using Properties of determinants, solve for x :
e+x a-x q-y
C-0 0ty a-x=0. [AICBSE 2011)
C-% a-x q+x
30. Using matrix method, solve the following system of linear equations
: X+2042=7
X+ 32 =11
2¢-83y =1 [AICBSE 2011)
81 Evaluate : |5 15° sin 15°| [AICBSE 2011)
sin 75° cog 75°
32. Using Properties of determinants, solve the following for x :
£-2 9pip wpad ,
*-4 2x-9 3x-_16 =0. [AICBSE 2011]
*-8 2x-27 3x-g4
33. Using Properties of determinants, solve the following for x :
X+a g x
X hxHe cx e [AICBSE 2011]
X Xl
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34. Using matrices, solve the following System of equationg :

dx + 3y + 2> = 60
X+2y+ 32 =45
6x + 2 + 3> =~ 70. WCBSE'2011]

35. Using matrices, solve the following system of equationg :
x-y+2z=7,3x+4y-—5z=—5and 2 -y +3z=12 [CBSE2012]
36. Using preperties of determinants, brove the following :
l+a 1 1 1

1 1+ 1 =abc[1+l+5+1]=ab+bc+ca+abc.
a c

[CBSE 2012: A7, CBSE 2009)
37. Using matrices, solve the following System of equationg : ’

x+y—z=3;2x+3y+z=10 and -y T2=1 WCBSE2012]
38. Using matrices, solve the following System of equationg !
3x + 4y 4 o=4a; 26—y + 3z=-3andx+2y-3z=8. [AICBSE'2012]

39. Using Properties of determinants, Prove the following :
a B ¥
o2 B2 v2 | = (0= BB~y y- o) (o + B + V). [CBSE 2019 Cl
Bty v4q o+ :

1 4258 [CBSE 2012

gta b-w } =3abc — a8 _p3_ 3 [AICBSE2012CJ

a+b ' Lpiig

e 2 2.4 \
 IfA = 2 3 4| anff B gy M 4 | are two square matrices, find AB and
0 4 09 2 -1 /5

hence solve the System of equationg FelpE8.2v 48y 048 17andy + 2, = 7.
[AICBSE 2012 ¢



47,

e ——v———— e~ = |

Using properties of determinants, prove the following :
o, of ~(b=0)2 bp
b2 b2-(c-a)? ca =@-b)G-c)c-a)@+b+c)(a+ b2 +c2)
¢ 2-(a-b)? ab

[AICBSE 2012 (]
2 -3 5
IfA=|3 92 _4|,findA"and hence solve the system of equations
1. 159

26~ 3y + 5z =11
3x+2y-42=-5 .
X+y—-2z=-3 [AICBSE 2017, 12 C]
Using properties of' determinants, prove the following :
) e b]
at+ec b c-ql=(@+b+e) (@? + b2 + ¢2). [AICBSE 2012 C)
a-b b+a ¢ ’

1 2 5
IfA=]|1 -1 -1/, find AL Hence, solve the following system of equations :
2 3 -1
x+2y+ 52 =10
X=y—2z==2
and 2c+3y—2z =-11. [AICBSE 2012 C|
Using matrices, solve the following system of equations :
2¢+3y+82=5;x-2y+2=-4 and 3¢ —y—2z=38, [AICBSE 2012C]

Using properties of determinants, prove the following :

Lty 22

wPindi b a2 292, \ : [CBSE 2013]
as ol

X

If Aij is the co-factor of the element @ of the determinant

2 -3 5
6 0 4|, then write the value of Ugy . Ay, |AICBSE 2013]
1 5 -7
1 - 4 =
I I = L , then write the value of x. [AICBSE 2013]
x-3 x+2 1 3

e e 3
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situations, at the ratc of Xx,3y and ¥z per person respectively. The first actory decideq
to honour respectively 2, 4 and 3 employees with a total prize money of ¥ 29,000. The
second factory decided to honour respectively 5, 2 and 3 em ployees with the prize money
of ¥ 30,500. If the three prizes per person together cost ¥ 9,500; then (i) Represent the
above situation by a matrix equation and form linear equations using matrix multiplication,

@) Solve these equations using matrices. [AICBSE 20130

X+y x. %
62. Prove that | 5x+4 Yy 4dx 2x| =3 [AICBSE 2014, 09; CBSE 2002]
10x+8y 8x 3x

63. Two schools P and Q want to award their selected students on the values of discipline,
politeness and punctuality. The school P wants to award Rs. x each, Rs, y each and Rs. »
each for the three respective values to its 3,2 and 1 students with a total award money of
Rs. 1,000. School Q wants to spend Rs. 1,500 to award its 4, 1 and 3 students on the
respective values (by giving the same award money for the three values as before). If the
total amount of awax:d for one prize on each value of Rs. 600, using matrices, find the

award money for each value., [CBSE 2014)
2y y—z-x 2y :
64, Prove that 22 22 z-a-yldwway k)P [CBSE 2014]
X—y—2z 2x 2x
2 7 65
65. Write the value of |3 8 75| [AICBSE 2014

5 9 86

66. A total amount of Rs, 7,000 is deposited in three different savings bank accounts with

annual interest rates of 5%, 8% and 8-21—% respectively. The total annual interest from

savings accounts. Find the amount deposited in each of the three accounts, with the help
of matrices, [CBSE 2014 C)

a -1 0

67, Iffx)=| ax o - 1/, using properties of determinants find thé value of f(2x) - f ().

ax2 ax a

[CBSE 2015]
Xty y+z z+x
68. Without expanding, prove that of the determinant vanishes : z x y
=3 9. -8
[AICBSE 2015]




51.

52,

g &

57.

59.

61.

Using properties of determinants, prove the following :
3x —-x+y -—-x+z
xX-y 3y zZ-=y | =3@+y+2) (xy+yz+ 2x) [AICBSE 2013]
xX-2 y-z 3z
Using properties of determinants, prove the following :
x x+y x+2y
X+2y  x x+y| =92 (x +y). |AICBSE 2013]

xX+y x+2y x

3-2x x+1

For what value of x, the given matrix A = { 9 1 J is a singular matrix ?
[AICBSE 2013 C]
t 0 et = L 5[ , then write the value of x. [CBSE 2013 C]
2(x+1) x+1| |3 3 :
If A is a square matrix of order 3 such that |adj. A| = 64, find [A]. [CBSE 2013 C]
Using properties of determinants, prove that
1 var @t
1 6 b3 =@a-b)(b-c)lc—-a)la+b+c). [CBSE2013C]
3 L4

c

Two institutions decided to award their employees for the three values of resourcefulness,
competence and determination in the form of prizes at the rate of ¥ %, Tyand X 2
respectively per person. The first institution decided to award respectively 4, 3 and
2 employees with a total prize money of ¥ 37,000 and the second institution decided to
award respectively 5, 3 and 4 employees with a total prize money of ¥ 47,000. If all the
three prizes per person together amount to ¥ 12,000, then using matrix method find the

value of x, ¥ and z. [CBSE 2013 C]
If Ais an invertible square matrix of order 3 and |A| = 5, then find the value of |adj. A|.
[AICBSE 2013 C]

Find the equation of the line joining A (1, 8) and B (0, 0) using determinants and find the

“ value of 2 if D (k, 0) is a point such that area of A ABD is 3 square units. [AICBSE 2013 C|

Using properties of determinants, prove that

a b ¢
a? b2 b2 =(@-b)(b-c)(c—a)(ab+be +ca). [AICBSE 2013 C]
& bc ca ab

Two factories decided to award their employees for three values of () adaptable to new
techniques, (b) careful and alert in difficult situations and (c) keeping calm in tense



69.

70.

71.

72,

73.

74.

75.

760

7.

—— L X P EOLIUNS| 29D ,'

a? be ac+c?
Prove that [ a® +ab b2 ac | =4a%?c?, [AICBSE 2015
ab b? +be c?
1:=92 .3
AR 0,0 4 , find A~! and hence find (A1, [CBSE 2015]
-2 2.1
yz — x? 2x—y%  xy— 22
Prove that | 4, _ ¥ xy—22 yz — x* |is divisible by (x + Y + 2) and hence find the

xy — 22 yz_ x2 zx'Lry?

quotient. [CBSE 2016)
Using properties of determinants, prove that
(x + y)? 2x zy
2z (2+y)? Xy | =2xyz (x +y + 2)8. [AICBSE 2016]
zy xy (z + x)?
23 10 :
IfA=14 -6 5 | finda Using A-! solve the system of equations
6.9 -20
10 4 5 20
E+§+—=2;—-§+—=5;E+2—~=—4. [CBSE 2017]
Xy Xy & ¥y

: a® %20 24+1 1
Using properties of determinants, prove that | 2¢ #l a+2 1| =(a-18

3 3 1
[AICBSE 2017
Using properties of determinants, prove that
1 1 1+3x
1+3y 1 1 |=9Bxyz +xy + Yz + 2x) . [CBSE 2018]
1 1+3z 1 '
Glven A= [ j ¥ ﬂ , compute A~ and show that 2A-1 = 9 — A_ [CBSE 2018]
2 -3 5
IfA=|3 2 -4/, find AL Useit to solve the system of equations
1 1 -2

2x—3y+5z=11;3x+2y—4z=—5;x+y—22=—3. [CBSE 2018]



85. Find the inverse of the following matrix using elementary operations

1 2 -2
A=|-1 3 0. [AICBSE 2019]
0 -2 1

SOME ADDITIONAL IMPORTANT QUESTIONS

86. Ifx, y, z are in G.P., then using properties of determinants, show that

px+y x Y
pytz y z = 0, where x # y # z and p-is any real number.

0 px+y py+z

1+a® - b? 2ab -2b
87. Prove that b + 1-a*+b* 2a =1+a? +b%)°
2b -2a 1-a*-0°

88. Using properties of determinants, prove the following :

(a+b)?
c c
" 2
a (l’_’;_cl_ =2(a +b +c)l.
(c+a)?
b . b —
b
b%? be b+e
89. Prove that [c%a® ca c+a|=0.
a’b> ab a+b
a+bx c+dx p+gx a ¢ p
90. Provethat A=|ax+b cx+d px+q|=Q-x2*)|b d ¢
u v w uwoviw

b+c c+a a+b
91. If a, b and c are real and A=|{c+a a+b b+c|= 0, then show that either
a+b b+c c+a

a+b+c=0or a=b=c




78.

79.

81.

82.

Using elementary row transformations, find the inverse of the matrix

1 Qi el
A=Y iy | [CBSE 2018]
-2 -4 -5
If A is a square matrix of order 3 with |A | =4, then write the value of |-2A|.
[CBSE 2019)
Using properties of determinants, prove that
b+ec a a
b c+a b |=4abc. [CBSE 2019; AICBSE 2012C]
c c a+b
1 Lived )
IfA=|0 1 3|, find A-L. Hence, solve the following system of equations :
1 -2 1 i
xX+y+2z=6,
y+3=11
and x—-2y+2 =0, [CBSE 2019]
Find the inverse of the following matrix, using elementary transformations :
2 a 1
A =102, 41 1], [CBSE 2019]
3 ot 12

Using properties of determinants, prove the following :

a b c
a-b b-c c-aleat+b®nc? -3abe; [AICBSE 2019)
b+c¢c c+a a+bd

e |
If A=|1 0 2|, find AL Hence, solve the system of equations
3l

xX+y+2z=6
x+22=7
x+y+z=12 . [AICBSE 2019]



If Axy, y4), B (x,, y,) and C(xg, y,) are the vertices of an equilateral triangle whose each
2

; X Y2 2
side is equal to a, then prove that | x, y, 2| =3a*.
X3 y3 2
93. Prove that the equation of the line joining points (x;, y;) and (x,, y,) is given by

Xeowinii

X1 Y1 1= 0.
X2 ¥y 1

a-x c b
M4, Ifa+b+c=0and c b-x a | =0, then show that either x = 0 or
a c—x

Xx= \/(gj(a2+b2+c2).

5 v+8 '
Show that A = [ 1 5 J satisfies the equation x2 — 8x — 7 = 0 and hence find A1,

Solve the following system of homogeneous equations :
Ix+2y +72 =0
4x-3y-2z =0

5x + 9y + 23z = 0.
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9. IATsfdeTr T 87

10.

11.

12.

13.

14.

15.
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AR AfAfT Fa7 87

T SUAR Afffa @ g7
TR IR @ fafer @ 2|

e fvas UeR & B § |
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